Revising Geography

On this page are the links to two external websites with past papers and some revision resources. The most
effective revision resources are the questions and mind-maps we have created which also on this page. They
are split into the different papers and also into Level 1 and Level 2 (slightly harder questions).

Link to past papers and mark schemes-
Geography B (9—1) from 2016 | Pearson gqualifications

Useful revision website (be careful they use different case studies to us, use ours)-
Edexcel B GCSE Geography Revision (physicsandmathstutor.com)



https://qualifications.pearson.com/en/qualifications/edexcel-gcses/geography-b-2016.coursematerials.html#filterQuery=Pearson-UK:Category%2FExam-materials
https://www.physicsandmathstutor.com/geography-revision/gcse-edexcel-b/
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Geography Wonderwall Place Specific Sheet — Development Useful Place Specific Facts

Malawi- stuck as a developing country

* Malawiisn’t next to a sea or an ocean this is called being landlocked. This means it is 800km away from a
port.

* The railway through Mozambique is single gauge and liable to flooding.

* 85% of people in Malawi live in rural (countryside) areas.

* There is only 1 telephone per 77 people in Malawi. This makes it almost impossible to buy and sell goods or
access the internet.

* The British Empire took over Malawi until 1964 companies like PG Tips get all the money from the sale of tea,
the workers make 1p per KG.

Emerging Country

India’s Location and Growth

* In 2012 25% of India’s exports when to the Middle East, China, Singapore and Hong Kong

* The Chinese economy a neighbouring one has doubled in size every ten years, excellent market to export to.

* India is in South East Asia where half the world’s population live.

* India’s economy has grown 7 times in the last 20 years

* Exports of goods increased by 20 times in 23 years.

* The economy grew nearly 7 times (measured by GDP)

* The unemployment rate dropped from 20% to 8.6% _

* People living in poverty dropped from 36% to 30%

* Exports changed from tea, coffee and fish products (primary industries) to petrol, machinery, clothing and
vehicles (secondary industries)

* TNCs such are Oracle (a computer technology company) and major international banks like Merrill Lynch
have heavily invested in telecoms and services. The service economy has grown the most.

India and Globalisation (BT and other TNCs in India)

* BT Call Centre worker- £5000 a year good wage in India. 4 times the average salary but has to work
6 days a week

* BT pays roughly 20% of what it pays in the UK but faces high competition with 52 of the top 100
richest companies are in India

* 58% of India’s GDP is driven by growth in services like IT

* Alots of the profits leave India.

* Rural areas not have a shortage of works in agriculture. 13% less.

Impacts of Globalisation on India

Economic

* 200 Million of the 1.2 Billion people of working age in India are on excellent salaries.

* Large TNCs now employ over 80 Million people in clothing factories.

* India’s minimum wage is 87% lower than the UK, so TNCs like Gap and Zara save huge amounts on wages.

* Other developing countries are expected to take these jobs away from INDIA by 2050 as it will be cheaper to
produce clothes with lower wages.

Social

* 70% of employees in clothes factories are young women because they can be paid less.

* Although there have been improvements women’s literacy rates remain 17% lower than men's.

* Many sweatshops will not allow women back to work after raising children which would be illegal in the UK.

* More hospitals can now be found in rural areas increasing the number of doctors and raising the life
expectancy by 9 years over just 23 years.

* Infant Mortality rates have fallen 50% since 1991 mainly due to increased safe water supplies reducing the
risk of diarrhoea or cholera.

= 2O m O > O
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Specific Region Growth in India
(Maharashtra vs Bihar) :

Maharashtra has the multiplier effect caused by the
2" biggest port in the country, textiles industry and
the financial hub, 12 Universities in Mumbai, and
entertainment such a Bollywood

Bihar has the poverty cycle caused by Caste-based
society where lower caste’s are less literate, Only
59% have electricity, 1/3 complete primary school,
and Women are poorest and have literacy rates of
33% (lowest in India)

Top Down Development- Narmada River Dam
Benefits
The dam is one of the largest in the world at 80 metres high, in
the future it may be raised to 163 metres.
It provides 3.5 billion litres of drinking water to India’s cities as
1. Top Down well a hydro-electric power.
A network of canals take the wat over 1.8 million hectares of
farmland across 4 states.

- The plan is back by the World Bank and Japanese banks who
helped fun the massive project.
‘ Problems

The electricity is sold at a high price meaning the rural villages
can not afford it and so don’t benefit.

Locals had their land flooded to create the reservoir behind
the dam. 324 villages were flooded to create the dam forcing
320,000 people out of their homes.

Good quality farmland downstream is lost as the dam stops
the sediment (rocks) that the river is carrying from reaching
the floodplains and making them fertile.

Bottom Up Development- Biogas

Benefits

* Intermediate technology where low tech solutions are created
using local materials and expertise to solve local problems. Cow
Dung or enzymes from cow’s stomachs produces a gas called
biogas

* Families need to collect 25-30kg of fuelwood every week to
cook food girls now have time to go to school.

* This has created 200,000 permanent jobs mostly in rural areas.

* The plants can be used to pump water for irrigation which
means that farmers can now grow three crops a year.

o o sng  priem 2. Bottom-up

Issues

* Require funding to build which is hard to get in rural areas
* Doesn’t work in urban areas.

* Very small scale from a project called ASTRA
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Development Keywords Development Models Globalisation Introduction

What is the difference between a developing country, an Name 2 theories of development and What is globalisation?
emerging country and a developed country? briefly describe why they are different.

Name 3 improvements to the world’s
What are development indicators and why do we use them? Name a country that is prevented from infrastructure which have lead to
Name and explain 3 different development indicators we could developing for a variety of reasons. globalisation.
use to help determine how developed a country is. Explain 4 reasons why that country is
What is HDI and why is it a composite number? not able to develop quickly. What is a TNC? Name an example

An emerging (or developing) country case study

Name our developing or emerging country.
Describe 1 feature of your country for each of the following categories; social, political, cultural and environmental.
Explain 3 ways India tries to work with other countries

Explain 2 benefits and 2 problems globalisation has caused in the country that you have studied.
Name a TNC that is now based in your country.

Explain three specific benefits that a named TNC has had on your country (be place specific).
Explain two issues that the same TNC has caused in the country that you have studied.

Within your country there has been unequal development, name two areas within your country that have different levels of development.
Explain why one area of the country that you have studied is not developing very quickly.
Explain why one area of the country that you have studied is developing very quickly.

What is the difference between top down and bottom up management in a country?

Explain 1 top-down sustainable solution to improve development in your country. Try to give three place specific facts.
Give 1 issue with the top-down solution to improve development in your country.

Explain 1 bottom up sustainable solution to improve development in your country. Try to give three place specific facts.
Give 1 issue with the bottom-up solution to improve development in your country.

Z |19n97
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Development Keywords Development Models

What is the difference between a developing country, an
emerging country and a developed country?

Name 2 theories of development.

Name a country that is prevented from
developing for a variety of reasons.
Describe 3 reasons why that country is
not able to develop quickly.

What are development indicators?

Name and explain 3 different development indicators we could
use to help determine how developed a country is.

What is the Human Development Index?

Globalisation Introduction
What is globalisation?

Name 3 improvements to the way the
world which have lead to globalisation.

What is a Transnational Corporation?
Name an example

An emerging (or developing) country case study

Name our developing or emerging country.

Describe 1 thing about your country for each of the following categories; social, political, and environmental.

Explain 3 ways India tries to work with other countries
Describe 2 benefits and 2 problems globalisation has caused in the country that you have studied.
Name a TNC that is now based in your country.

Name 2 specific benefits that a named TNC has had on your country (be place specific).
Name 2 issues that the same TNC has caused in the country that you have studied.

Name an area of the country that you have studied which is developed and an area which is not.
Describe why one area of the country that you have studied is not developing very quickly.
Describe why one area of the country that you have studied is developing very quickly.

What is top-down management? What is bottom up management?

Give 1 top-down sustainable solution to improve development in your country. Give 3 benefits of it.
Give 1 issue with the top-down solution to improve development in your country.

Give 1 bottom up sustainable solution to improve development in your country. Give 3 benefits of it.
Give 1 issue with the bottom-up solution to improve development in your country.
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Climate and Weather Keywords

What is the difference between climate and weather? Why is it an important comparison to make?

What is high pressure? What weather is it likely to cause?
What is low pressure? What weather is it likely to cause?
What is the Hadley Cell? (Draw a diagram) How does it lead to tropical rainforests and deserts?

Climate Change

Name 4 causes of climate change
and explain whether they would
cause warming or cooling (or
both) and why.

Describe 3 ways in which
scientists know that the climate
changed in the past.

Explain what the greenhouse
effect is with a diagram.
Explain what the ENHANCED
greenhouse effect is.

Explain 3 ways in which human
activities have contributed to the
enhanced greenhouse effect.

Give three possible
consequences of climate change
in the future.

Tropical Cyclones and Case Studies

Describe the distribution of tropical cyclones around the globe.
Give the 2 other names tropical cyclones can be given depending on the ocean they form over.

What conditions do there need to be for a tropical cyclone to form?
Describe the characteristics of a tropical cyclone (Draw a diagram)

What is used to measure tropical cyclones? How are they measured.

Describe 3 hazards that tropical cyclones can cause.

Describe 3 management techniques used to save lives before, during and after tropical cyclones.

CASE STUDIES (Do all of the following for an example in a developing and developed country)
Name the location of the tropical cyclone, and the date.

Explain how prepared the country was? What forecasting and warnings had been given.
Describe the level of defences in place in that country.

Explain 3 impacts on the country.

Explain 2 responses that country had to the tropical cyclone.

Z 19n7

spJezeH snewl|d



Climate and Weather Keywords

What does climate mean? What does weather mean?

Draw a diagram of high pressure? Do you get rainfall? Why/Why not?
Draw a diagram of low pressure? Do you get rainfall? Why/Why not?
What type of pressure happens over tropical rainforests? What type of pressure happens over deserts?

Climate Change

Describe 4 causes of climate
change and say whether they
would cause warming or cooling
(or both).

Name 2 ways in which scientists
know that the climate changed in
the past.

Explain what the greenhouse
effect is with a diagram.
How have humans made the
earth warmer?

Describe 3 things humans have
done to make the earth warmer.

Give three possible
consequences of climate change
in the future.

Tropical Cyclones and Case Studies

Where would you find tropical cyclones around the globe.
Give one other name of a tropical cyclone (think USA).

What conditions do there need to be for a tropical cyclone to form?
Draw a labelled diagram of a tropical cyclone.

What scale is used to measure tropical cyclones? How are they measured.

Describe 3 hazards that tropical cyclones can cause.

Describe 3 management techniques used to save lives before, during and after tropical cyclones.

CASE STUDIES (Do all of the following for an example in a developing and developed country)
Name the location of the tropical cyclone, and the date.

Explain how prepared the country was? What forecasting and warnings had been given.
Describe the level of defences in place in that country.

Name 3 impacts on the country.

Name 2 responses that country had to the tropical cyclone.
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Structure of the earth + plate boundaries

Draw a cross sectional diagram of the structure of the earth.
Label the layers and describe their characteristics.

The outer layer is the crust. What is it split into?

Where do you find volcanoes and large earthquakes?

What makes the tectonic plates move? (Draw a diagram)
Draw and describe what happens at a convergent boundary.
Draw and describe what happens at a collision boundary.
Draw and describe what happens at a divergent boundary.

Draw and describe what happens at a conservative boundary.

Volcanoes

Draw and label the two types of volcano.
Draw and explain how a composite volcano is formed.
Describe 4 different hazards that volcanoes can create.

Name and explain 3 ways scientists can predict volcanic
eruptions.

Name and explain 3 ways scientists can prepare and save
lives during volcanic eruptions.

Explain why a developed country like Japan would have
more success in saving lives during a volcanic eruption
than a developing country.

Earthquakes and
Tsunami

Describe how a tsunami
is formed (Draw a
diagram)

Explain 3 ways in which
Japan (or another
developed country)
prepares for
Earthquakes.

Developed Country Case Study

Name the location and magnitude of the
earthquake.

Describe the cause of the earthquake and some
of the background information (Think Tsunami).

Explain the PRIMARY impacts of the earthquake
Explain the SECONDARY impacts of the
earthquake

Explain what responses the country had and
how effective they were.

Developing Country Case Study

Name the location and magnitude of the
earthquake.

Describe the cause of the earthquake and some
of the background information.

Explain the PRIMARY impacts of the earthquake
Explain the SECONDARY impacts of the
earthquake

Explain what responses the country had and
how effective they were.
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Structure of the earth + plate boundaries

Draw a cross sectional diagram of the structure of the earth.
Label the layers and describe their properties.

The outer layer is the crust. What is it split into?

Where do you find volcanoes and large earthquakes?
Explain how convection currents work.

Draw and explain what happens at a convergent boundary.
Draw and explain what happens at a collision boundary.
Draw and explain what happens at a divergent boundary.

Draw and explain what happens at a conservative boundary.

Volcanoes

Draw and label the two types of volcano. Compare them.
Draw and explain how a composite volcano is formed.

Explain 4 different hazards that volcanoes can create which may take
lives.

Name and explain 4 ways scientists can predict volcanic eruptions.

Name and explain 4 ways scientists can prepare and save lives during
volcanic eruptions.

Explain why a developed country like Japan would have more success
in saving lives during a volcanic eruption than a developing country.
(Think Before, During and After the eruption)

Earthquakes and
Tsunami

Explain how a tsunami is
formed (Draw a diagram)

Explain 4 PLACE SPECIFIC
ways in which Japan (or
another developed
country) prepares for
Earthquakes.

Developed Country Case Study

Name the location and magnitude of the
tectonic hazard.

Explain the cause of the tectonic hazard and
some of the background information (Think
Tsunami).

Explain the PRIMARY impacts of the tectonic
hazard.

Explain the SECONDARY impacts of the tectonic
hazard

Evaluate the success of the responses the
country to the tectonic hazard.

Developing Country Case Study

Name the location and magnitude of the
tectonic hazard.

Explain the cause of the tectonic hazard and
some of the background information.

Explain the PRIMARY impacts of the tectonic
hazard.

Explain the SECONDARY impacts of the tectonic
hazard

Evaluate the success of the responses the
country to the tectonic hazard.
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Urbanisation Terminology

What is a primate city?

What is a megacity?

Name six reasons for rural to urban
migration

What is migration?

Explain what the process of urbanisation
is.

The Urban Economy

What does the term urban economy relate to?
What is the difference between the formal and informal economy? Give examples.

What are the four sectors which jobs can be categorised by? Give an example of each.
Why has the quaternary sector only appeared at the end of the 20t century?
Why did the secondary sector rise and fall in the UK during the 20" century?

Changes to cities

Describe the structure of a developed
city.

Explain why there are different land uses
in the three parts of a developed city.

How have developed cities changed over
time?

Explain why developed cities need to
regenerate and how they have done
that.

Give 2 specific examples of how specific
cities have grown.

Explain why a city’s population might
decline.

An emerging country’s megacity case study

Name a city in an emerging country you have studied
Describe 3 characteristics of your city (Ideally one social, one economic and one environmental.

Explain 2 place specific reasons why your cities population is growing rapidly.
Explain 2 reasons why the city is growing economically.

Explain 4 major problems your city faces (be place specific)

What is the difference between top down and bottom up management?
Explain 1 top-down sustainable solution to the problems in your city.

Explain 2 bottom-up sustainable solutions to the problems in your city.

Urban World Questions
Level 2




Urbanisation Terminology The Urban Economy

What is a primate city? What do the terms urban and economy mean?

What is a megacity? What is the formal economy? Give an example

Name 4 reasons for rural to urban What is the informal economy? Give an example

migration

What is migration? Name the four sectors of jobs. Give an example of each.

What does urbanisation mean? Why have we only recently had an increase in quaternary jobs?

Why did the number of manufacturing jobs rise and fall in the UK during the 20t century?

Changes to cities An emerging country’s megacity case study

Name the three layers of a developed Name a city in an emerging country you have studied

city. Describe 3 characteristics of your city (Ideally one social, one economic and one environmental.
Describe what land use you would find in

each layer. Describe 2 place specific reasons why your cities population is growing rapidly.

Describe 2 reasons why the city is growing economically.
Name the 5 stages a developed city has
gone through. Give an example from

Birmingham in each. Describe 4 major problems your city faces (be place specific)
What does regeneration mean?

Give 2 specific examples of how specific What does top-down mean?

cities have grown. What does bottom-up mean?

Explain why a Detroit’s population Give 2 good things and 2 bad things about the Mumbai Monorail.
declined.

Give 1 good thing and 1 bad thing about the SPARC community toilets and the Hamara Education
Foundation.

Urban World Questions
Level 1



PhasicAL
| ANDSCACES

GLAQATION g v W“‘d &
v ablayp Greksd
\ v\\\ “{\c\}\f\ N3 \)\,\Uoof\d/)
V/ UJ \6(0(5 c,\bo

L § sm Y
/ GEOE\-OSC:“\ hes PART X
f e \GNEOU .
N (B oo 59\\\> e
T Gonks ‘.u S Pl
TZCTCN‘C' \,'v‘. , L .of ;&Qw =~ @) o BQV’%\\s
' 0?\.\ €T M\ METR M GleNC T QQ) S Candh
?labo Co\hd&, cfeo'x%:j = \\uh& X Gompresyed CONSTQUC\'NE umt
' e O

ot ouny - 6nd \\,“\M. (/ @ : Q\uﬂ%@ \WNowe
: Y = R = Stazp Teodn

‘ R
‘/99 W\
e ; WAt

DESTALCTIVE LIAVE

| 2
o

L |
S
§ - W -
& 4= o
n ¢ o | A
Z When bordn G ok N
G poralad i we D
°> Qg@ (oh o o o

Two b Ut 6 rived 0o
b recks e Wt
2 g R
o (Ddt —“M Seo Gum
> o QSOA-U) e boff@' :\(ﬂk&l’j M

Q u
(4 \,@1\:\:\& iy oo
[ on Shore, nd >
- ?)_b - 80‘3‘35 an cd Shoptd bdy
Seamenk down te Coask Ao\\\ Wk & wotow  eRNInce

E((OS\O(\\ a1 QAk\SPonTﬂrrloM

Dot (s oy @osen cfor becomse of K diggrent hyper

Camdc

(oot v - S\'o(.k

Srmg

A:a»b\c

(L»\GQUD i Phrusien

dong o\w\t»g&



HousiNG N\ Crecper hamenty
’f@UQ\SM

‘é RN te cast thon
A ] f‘m Q@ﬁ 0 0 AGRicucTurE INOUSTRY
fﬁl'g 2% o T e Bloctes b e B
c » \} 0 \(\ e § o
£ ‘g g T% O K%y\sﬂﬂ;r_b?)“ﬁr gﬁb\(\kr\‘\ %F‘CE Mesx 9 e Ul Cauyy OZiwm HE;O
4 g J e 20N 'Bwrﬂeﬁ\cmﬂr\ ' is wed w 80:-1»\-«\5 P Ql'm Pecple
4 /? Q“}/\P&Se\ b&\ ope _So«vz,\r\m@ﬂ/‘ won creckd %&C‘d“‘whm\k Coodt ecxh <.
S Lj Mmovsren . hare ZQO/

Onbopes fert Ao OfpeP

concerele , sheod o woed . Opren ng\/b

___B¥ . 4 US\ -
~ on " rf::f ‘ ——— 3
u;;f; o ARD ENGINEERING ontegty Do b kst nomce s
\\:‘éf‘s \r\\:ﬁ‘\»ﬁf_ | o wp— ﬂ\“j oty Lk5u5\\lj e)nedn\,e. ck Shﬁ)\ﬁs eTINCN | {
CQ . Shep longshere Aok o A
asTAL FlLeoDING Wiy Sobd on the e
beon, Lide SRR con e
beachu, Aisipeke L

Liosie ey -

® HiMn Dona%o,

(oo PMaR. / (nesere Wik
H?i)&cjmck) ey, re,lke(}ouw\i«d(

C g \’UEU.»\A @Vtok/) o LWoses Heen Scovr
l\' Lo e e =
F L Svep 23/\00 f\s. L S\n? X\ggdiw ;
» each Nogsdnienk = 6579 e
‘ “ 4 Gﬁ&\CN CFAGES :S B e end ?"‘MY‘S & ot (e
P Tooch Oissipetan Liowe ey s o
S W) hawe ‘= be doe wge&é&b
E CL\F‘F eACE
VEGE A1 onN \
A Ghde. Y Y =
Secken of i e oy Yepphhe/s 9
e It tokes b A~ 4 CLefF
MAINAGE

me«e S

in cliw A ainage

ey Gu

sk

oS ok te bk oo ey - 9 Qwamems

h Clgy G & thouw | | | unde/”

hogh 2 boegal, HIDRAIIC  grauty. Wik veld- e e

tre (c(k (Uﬂb(\bm\ ey O(@N s | ’\'{9(:’\0\\\ (yeok vp tha 5% .

odigg e, . NELASION el Og . ‘\;’“&3 NGku(e) Px@feci oy e o,
Syps pe%sm ‘ “ A No/fef B

" W eacn \

gedhnoon (ke N‘CXL@B%%\NS&M Wl wek (ot eue@



‘v escdo

\ %‘(ng\ =~ (ocks Corned

in e Lckor bk the
em ‘o escde

| Adhmf - ARhon - ©as

| ot % buszndh%zkkudé;)&fg soaller
e bees B
HQ.QQ\/D =S | - ‘hnd &)o_(‘ndeb
in sfcx)cs ,‘ _ ~ OJSSCJ\!«J&& bj
\m%“fq oAk Chramiceys  (n tre

lnede bre

kend \'S%S\Cw Qukg\de ) e

Woky Sc _ . '&O.S\‘

Clopo e oty causing
OCCA S exrcsen .

b (goss Cag\en

-~
Middle \_w,u
Plokter | Gentle
Graldes + Roundes (Cacks
L)idar 3 Deoxge.f




Trees dew LA

Do Ingilleekion Sucyoe 1< ot

5\.&[30\(@3 W Cancsede A ?( %ﬂ 0& (ausen Ao C\U\thrj

revwe Ben 4 dert AN weker gxwa‘“ﬂ o ing\kake
\nYercaghon

Permeokie

Sur &ocn.’
O“\er - . f &ﬂﬁ) WEEE S T h(Q \‘gou h&“‘
o& 96@"3 \S dow ;| So ¥ c)oc\mc) O SUJ%QUD \)\(_Q
) . lors \J\uz)b) - Sl Wewre oo
u'\NWU“' POLIAANSENST E) “N / | \ - n od olom
O No ‘n A ‘ i (\ACALQI in
HA( e D e Steap Ante cedenk (ndifens
E‘*tgd"“& , 0%,.(mpgvv Sw The 9@&@3 Comclinens - Cor inSYyunce {A, t has ba
EN&‘“EEQ\“ 6 VS OF T J?\\M\’W(\- (’ouwinf) = a \0“3 Ye Ue ‘bﬁfmo\ Mc:j secome SoerCJ:o,d\
£ feecmve I S\AS‘Y(\\NMBU« o, Y cre NCe cllens mzf\\kodnm o
F\O@ uans ) EN G‘NEEQ\Q&' Mee tre NvE dus C\r\U-gl Wg\'\k 3 \m@\@/
L Tempouo] fepeoner Flood Ploin 2 3 Hegegee Woe ey e gloed
/}\tj,/\ c:(\\ 1'3 Hmm ?\aﬂ,\m? s /g | ’* |
wldurgo So s - \lag T .
Makes Yo vaver w f ﬁ \np Chvoek &,wﬁ; nop :j J | <o FRA L :.‘ PQQSC @ﬁw
b ge & cen ok Mexe ‘ f f K l}.\:{ U‘A O oy vem §§‘ '
Cfuom EUT \\( o lereckn Homen Cochomen P\% - X@:\&:U* -Lewc‘:?o (‘01(*) /; 5 ? .
ok K\f»@dm LXne. . "9y (eldo o e B o ¢ W = 0 .
9 Ol Aceh = (o
OQNS 4y Qnm\e\ Ces\zcolon ) Yo : sl
sed v Sore \goqu , 3
2 U)Qeu% Okmrb 2(\ | 4 Re)rumf\ns Aven bode Yz Uren —
,\,; /) " Qs flecds b dno / g\ AClurd  Sokes . Slowing de flow o .
| ? r:x \% X\g\'\ . \ ‘? Woler  dasn, A er\hc\lh)s Sy oo .
) e e D) et e ey Sy b
D d b ke dsouned | e é .
re a‘“ A&&“@S\'C\*\m = 3
03% S 4 dnak % |ty
o g the Toeen ore. lockasd ‘ Sroem
o e drovnaye bosia Yo ek < 7
&g Ay &L Wl 7o om (¥R 1«5\}fak,v 1 i - .
Slady- (ladac Plodds. ) Sterm  Hydrogragh



Bi\'mina\mm - Ouvs UE Gily.

< W\C)(C)(\ré / [0 CQ{‘HC“\ \km\i)v wro,k|,c ~
i ) ™

La ndeecope

A olckion )
| T‘G De,f\,«\b Letn Pc? wedien  Den Q‘B Mo ML [_\ mb
- Mé
U‘* feider Sennean ’ over Te - Uk moke g/ﬁ*"‘wﬁa« e
D .. u\w\“\ W O\der & A “'\CJ)CA’ \n e A e AL oM ACCESS\ELE -
cien < Mekien enden 3 curpoy Clec
C—PY\V G_h,m _’ \)N_r\:i ehery | K . ‘5@:3 r Quct ) NR“(* Ac&/“uuii\,\\t Cormard 1 muuy Ut & ‘!C“a | ¢ \"‘L’LPS
‘)“@“ lower e e . TEIRRAETY el el - o \roma G KK AR K
e ¥ kQ,\ . cores 4 5?‘ Cef QeI ((Mecllh ekc.) ‘ @ Qr\jcdc Yredium \)m\@qy‘{b < Mcdenaw 5\'00"2
[”(J“)rw‘-j e?f‘\'S Stheds E“v"a\m‘L Q \;‘ ' alredwng fone pren ﬂjﬁ%\ﬁw - MWG‘J@ - e
Nos ' e A ‘3 e Guekyy S indien, Blotiy 1 54 Vorten, | dUrBsCie e prowned
cice. . ) i /7 ]/
Land Use o acme o S . Smi%mwmf -
& ESN A Ca/ \nou%“’\j veeg/nm S(’:'\LC (\;\n ; i"\ e .
¥ nchon Voo . o) ke e .
Pﬁmaﬁ Ocrireudhuc 3¢ ' H " ‘L\r\‘ 3‘0\‘“\ . ‘S'haﬂ
. ¢ . ‘ AN A Honcausok N Somcicon v LAY N
& ekg'f’? k@“;(‘:i\js. Indushe? T o - S ” . | pokiauk \nchicn, Qolu sSrert » gmﬁ\xsm
AT s Cotmescso e yooer  fitusic '
lcl- ¥ locer Gty Indosdon ok IO ("b' New i ophar ot ulop
rnil WS Lesdaraal (ke Cont ) S%“ . R ' Cleiningy feco g
e c.onclaany, — ? i
N Qucreoien ; (asndedadt (\%L ) | ; GeviuacaTien %\W(&: Qe -\Z ﬁgg,iy o(iwm 2:«@\5&
QQJ(C»L Q(;\‘b.». e /44—_,._, + V\C\ﬂw‘bo&mh‘b ﬁfﬁef da- induem clucckier o m@ci;iidok}.o‘\e m%‘?ﬂ\( .
\ T (" oo uﬂ {anes P
a<hruchuce -~ g Quokem e ven | esean Jheckmgest " ro‘:ln.«\ S :
a0 eConomn con \ e \mproves: \QQ&WV (’ﬂf-’({’ 1% o) CMMAN \\ o7\
G =0z (mmigdtion b B~ Ok /oo A
ﬂ C‘);-’S \-\S;\Ef : ; ‘\'Q\k m&“ug/) \(‘“(*Mééfdf’"’\ ! eﬂ S — CA(XOCH ‘ / ¥ f S\" e
. ; i ;Ccf;{::*c. e V) Cyds) ko m(m“n\‘ SQ}\ Y 4 v_ M
L4 - ) '
wers) &Cﬂhd\. § v o e éj@;ﬁf‘? o . (\eoconie
A Toern CX)\ i/j/_,d\ e v Uic N \
w 8 Tormngbes e o Viswr. “@w %‘m T¢ OI\SQOT\'.
; ) okien W\@b«‘é\ b{\ e &Y s\xggwfbcﬁ\)\-& The lnoer e V! 32 =t
B ‘T, e reido A CY e Smopeiney ‘Wd‘ "‘wh”“ ANV S ed W2 €80 Te L4 05 o e
" & ?u\g;&m o v e \(l\"’:v \::V: . ok oy Ne oks i S % A Ve \W\r‘i\i "‘QP\QQA Ej
QG(\’\ -, Ule ind \'\/\(\;bj n f A W\\ CM»Oj 6‘(‘“‘" KGO o + omamse RIS I é)\cxo > cu_o\fuaq/d
es ‘>V-H\$(’;qu‘ 5 ?(LM(,Q, weD 5(}:3 D \Q«é\, K‘Q»Q\Q\,Q.Q o n\uu e CompAurmnes FURENCN
E jors Sheps 3& J " Q\’Qoo U W Negma - Gy crecn ST W“‘L& Q)\é:;ﬁ ky{f\& vt
: 2. RS howe opeien R — ot
¢ b T - Bronds -
l\*&‘)os& Vares R g , Ja- indus elasedion _.._e' m“é‘“a + Re - Geneabion
Opears | \ Q J Caal mire?  Shuk = oty
‘ o (678 K\f\ak: \(\M\o& Q ¢ Bb\t\mc/) Sk Lzz\:z\ LQNCY(‘}QL\OGE—- Wor S e gEU“{ C'(l\\'\
H \Y\\-&g\ conounkn 9 \dos deoww M. \? ‘)u\' uu\uzf Xodc(b &'ZGGS\ A \‘*\P\’ﬂre(:\ 2
Sadn a5 Sp Wabo /i gten £ ‘\\‘ow | e
e g N by o Yemed - : ‘g’?ﬁ’ o - R R Qg -
5 Voren o ok _ 5,000 \
\G’/ & (U“(JW"/? \5& /(\,L SQ\K\-\ AT o fe econovt el o Lol & e é BEAW e (meeu\kg_ j«f’@\\o\
AP 5 el R 2
Meck Yeudgueien Tediony & o
i Wik
Cuuckemony
QO@Q .

o \yeeleo
Yo \om\a Yot x Gow fa Reanahy - \)‘;’; % 0\@91 ouc pAAs |
MNoner B Sarem c’o’“""“"’ econ
oy \ere




\ ’@ YVRARK

0((,es\'crs\v\ire, A el area
(87 L jaYesdependmt wit

SW .
Weradress '(54/ Ms. : ;
VTN A &- o

U‘((”’\ cxXeeH e
C/)QOND\A.\ i~
L oAt ) \ \ru’)&s in e dly OO
Healldcore - W@lﬁ Sﬂu{kt) Gueds
N Oke Ywedkes 5

el

(ractt 3 o) :
oblems in Worcestecrshive (M58 \ ogw o '
3 e - A 3 goMerns H.L.EA.

Tcanspact ENAIE DocYa( S - e

614 o [ | 940,000 Qﬂm:m«e,\)% \Ug\ meg_ o _ POVSVR - A : 5 Con 9 fome. anen of dicecinean

e Vit o g s 208 WL R

Bus Sc:cfo ’\t;\i:\mw;}j?;i\‘gi ek oeTo Swpet Poé&ems - s Bese ON owereh V&Hm ve MM.W " :’W)AA?

rose e Concallad T P o /\\“5(05\“&0\_“‘& Pesdlios o s T Serellang tn & Senge 1O

i Hon . o5 fpehen €80 0 <5 AR ‘ L cence, deeset ndede Seddend)
W tinuber et \Qc@»’f@ﬂ»—c @ " Sieh v P quataky pedbed - (& CO&ﬁ\%), Wis o §¢ ek

&\wé- A QeSS -
oy \eowen e 6&‘""""‘3 (Cmpndars L here  ord iy meow lsusinansen S\—m:ﬁ(‘”—
PP S Comnedionn - \¥

.%(é\?:jb{u%u&a(iiv> G s ()n(ﬂo Y e wfy,du ed\::a\bor\ ~d
T e A | Shae Mam e
@ \siw \e mg;h‘v\q,\ gw@\'\«)n-p Rk | l“ ‘)sc.
sense
. e
Q N IUCERVIVEY he odd %WO\@\ X e &.’\ U oal‘
%c,o& QX\CS\A(\\

Prod dunc
D - | .
\-Ql%u(t AAd~nsen b\(},\( AL orch Ccemmer VS SXCX | e A
QRN be Lickey | o gﬁw ed eedo . | _ﬂ./_’,_,//,,,,/—/"‘“""-’_——/~ ok ot &
\\\\%\JJ) CovnPy foum SWQS NI\ \ocod - '- ;’_____/,//E )pm'm SR
ER mintt @ ety et e G Tk (5 s
ARV VS Cubyome . %\,\xﬂ)@ nd exaiblek @}?\U\G‘Mcw\/), \O\%?f'ﬁ ROPAN (K Yo o odRen | CASWR/

| A \S < U ___—/———/_/_' \



o we S
E\‘\C‘B\‘fs Ppaesiyy
Lt g’*\, |

D\ o CARDING . . S EDY)
| ' M\ ,‘ | Our river \ T s ‘ \ k‘
Question O @PPIT ™ Concdsianf

| Fotar oy cuowy
ALLei g sowe ° The * Plad Nte map’ leths o bree

NN FO éB /'% ®\ o.m‘“% ’E\:\‘ fv\ixh N o \\1(5\4 AL K\C"d Q”G’w% ok
4 , Y QO o |
HON CXQ d(mnagg/\b Grea orord e Aves “6 = o’ X K;:\:«\' UJ‘Q b&u‘" OX H‘Q 'VCAJ.OD 1A C\/\\}‘(C)'\ S\w)o\c:(\
bosin and nVes 4 Re &U«\*S " 5 v o (obined LA OS Mop Wi el
jeakuces ot (on diney ¥ Smalk, awcessive CAR | s Bk e oot Sreep Sited Wb i
(wer, Soge v easyl ) BT EE S O e vecgkodien Lok o ek (noesle
m’ \\ \/GM N M@LQ/ o acess . Close P oy Ye vvef ‘—i‘D‘ S S oveY Cap‘k S
\ %j { é m me Lok _ o | Lrtnce jom Sz ) 8‘}[60& O\ ’Oy}‘ NBO \z)C5 c,() Yobukeren
&\OOCX ‘(\S\Q %C( PQC?\Q/ eana ko SO Lo g ‘.\Q\dﬂf o c}mper U comid eed ‘e Y\UO&&:\B"
‘ \ ; » ) . :j ‘o % . A X A“'f - \IQ)OO% :\'\W * Ouc nves s 06()30*3 s CLQ“(‘GI N
in the p/oa;& cree \ N N - Dionong- trennas (oo i o G ot bl
N TDisvane ko seurce (M) - ¢ en \ui e Apdun
Cruscn Sirrelhen 3 tar fnemen > L — Yoor s s o e ok wgh sy fludag.
bolus nesses @;\pss*Twns ak (e T
| Ciruscn Smexden n Srcepshice ANALASLS : gL
~ SPadie— S [ Evaluakaon® o
ota Collechen | s o
L \ el - \m\)m&q
: ) y d— unreliod
Pamaey (L) SEConpaed v o b gy | Vst Vg &7
Doka 4 ot pescrdly @ Dok procuced &3 e ﬁ e e W& adkes oc Qudnt crove conRnueds
! @ Heones ak Asle &O(ucﬂ’\ LI owd tweXe o en ks UTAEYS PE=L (N

\ _ Nowe ‘o~ mere acoscke - b oweda houe tMmeonk

(‘j,w/S\eng“’) L Cowd hose  fokenw more regdm,éo i~ A}W ‘choj).

CO\LQ(\VC(L \e- w\cﬂ}\D &')*‘Qkpdﬂe,\;e’ eq-

% F g‘
% ¥ » i

!\'6 i .«3\:‘)& Lomtdowc “‘ﬁﬁ;ﬁ;ﬁ‘? NP7, G )
B AL b e I = Widke 3 Qg Meosemaks /B
R‘ ver \A)‘ d“\ xa{\cj&/ agm\fo\s&m&g; Pw;dcm;.ehe& , \‘\ LWL vuav.\rdc\m { X ‘QC}’S’L’)*_‘Q;_ S
¥ 0 YA pencerer. To el wr el ouk e | 4 / __ Rods o e ChSader were %P/Q«V\D fa Cuovy
e  Ssdheme- (i O (hyon  J|& Onangprey Ve deghh 4 Lutd A

Flocd Qsk (Y\c-@- g‘:\:\( Srvekdon, % W\E(J\Swina v enodddple Reren 1N cLerJ’ LOQG&‘{;—)
. ond Og)ck\pécm ane@tge W NESUN-1YS Pl pere
,An’veCQd:a\\Jc (ondsenn Ty

D.‘S&\Of%e— T\md o col ores A (\)W\'d&j,
Qe e BD'). = (v\c)rﬂa\s(c(/\c\ o Me

+

; 3\ de ¥ . \
Veloahy Wt s & 7
e W g g Sinse Vo i

Sd'm Sl‘lL \ Rﬂgﬁj S Smdév\% +U::2mdb ol & @*WS Oharg Qctertone @ de Eromicin Codlhens
¥ S“a?e, Chows un Wrelier ero $:en hao \eken A i hs\c{\‘ Y @%\\(\g&,\ S\}» HC \,_,eo\s:;e/ in Ble dows Ee,zcgj (ea-h c/y)eck NI

foe o 0 Greon [Nk on diferek donp 1 dipperect densen

Cruwd S ok Une on Oue/Cye - v




WO IncomE  CumE SeconoA®y METHoOS

o
: W enacment o
E@“ %@&6 G HEMTH / ""‘:a\'i ZE\?ZP b
anl, ©ols
Hag&esis'- Dig&e{u\k oreas D E?Q\VAT\ON EOucATIon) QXJM"‘Z%
B annen T dmecpr op (D) Vietone poe wer €
Be 3 arecn. Thi (o deprived acceding

e Utbon Oceo Cf LEVCESTER Hous\wW &

v Y

Pamay — DATA ——  SECoNOARY

\ - -
7= 58 Data oy  Doka we hase Mo depared
2 ' § \chen from  oncdher D
( 7 A
1

halged Lo lede ek e |
‘ H’\S\f\ye}do Liom We ™McEE
S H«ﬁﬂcmgs Lo T

\on sq-7\ 2S S

ﬂZ-S\ 3s 18
29-358 O 30

xCondwsions X
ln s sechen 8ou nood Yo GRS/ ttuz C{M}SC/\_
u Du @Xaefw aroan in hoicefrer hawe O &W
quddty ¢ Gge 2

You reed Yu e oo repulko A e S*CC,CJ\dOJCﬁ

G LR \hawe :
R gie. Lok / 2. Qe@v\vc\zm \
of  Ernuvenmeikel Que b Mo oS , )
T L Leas Qepredd

SuN‘ﬁ:j )

- 0s3 e g _
\'\ﬂ . . E“uim“«ej&,d (e loded ok e envirmnmenk
. ond scered Bem Srom O (lowsert)
Q“°h\3 o S (ighett) The \f\l@r{/ He Scoe
&IIV% ha bebe e enuironmet - CC’JCQE'F“Q/’
T include wadAnczP, 3“"5"“4 + 8%5@0\& E . \_\_o
COCLIC e Soged + conded by | ¥ hL(lbd\ Lok Lenk trong L could b2
S& -, G C"D"‘WQ PSS Va ek | kb s

» . Cﬂu(\k 2 hmesin eoch locokion. W2 fock o ety . E}(Cu(‘f\‘b’(ﬂ/) \‘f\dd.ldo,g

dcka 6n welk |

l—"\. . ‘“*NWWWC:H{MmMK%m(WO\'
Jt\&‘dds (_n'me. sk n eod oo Lt ued o Twne of d°3 Sub}edwe— o"‘b"}
Chme NSE OSsesSmank L. Qe o nien oo
ﬂsse$$me‘\bme Scwred ftom O-F 60&0 ont@v.m\\_cko \QO'OU*O(_s ® e colude e i \M y SW
9,8 Loy Mv:gqs)\wc'\/’— Gad\ poct g Lasader
A e Whde pdwe

TowsecT Uichasa T e S oot e hoghars nit <
bk~ wchane (MO e S Meow Aot nsk oy Cold (nfoenie dpeRn®r
O ﬂ*" \Mﬁw | PN Y came Yhe Ule \{xc m’j CEh o

ose Yee C)uah}j % Uje i U\@b \e be . o Lo ol o ck d}'ner&\k e (g WWUPW P @ \igt G eneky
Lo on ek dans  ond Yol Hee one002. %dd\ef(lce()\/),



Geology and Landscapes

What is Geology the study of?

What are igneous rocks? Name an example as
well.

What are sedimentary rocks? Name an example
as well.

What are metamorphic rocks? Name an example
as well.

How has glaciation changed UK landscapes?

How has tectonic uplift changed UK landscapes?

Distribution of physical features and their causes

What does the word distribution in the title of this section mean?
Name and locate 3 specific upland areas in the UK.
Name and locate 2 specific lowland areas in the UK.

Describe the distribution of igneous and metamorphic rocks in the UK (name at least 3
specific locations).

Describe the distribution of sedimentary rocks in the UK. (name at least 3 specific
locations).

Draw and explain the process of relief rainfall.
Describe the distribution of rainfall across the UK.

Glacial Features and Landforms

Landscape Uses (Agriculture in the UK)

Name and describe 4 landforms (shapes) created by glacial Describe 3 different types of agriculture in the UK.

erosion in the UK.

Link locations and their geology to each of the 3 different types of

Locate 3 areas with erosional glacial features in the UK. agriculture in the UK.
Name.a.nd describe the sedimentary rock created by glacial Link locations and their altitude to each of the 3 different types of
deposition. agriculture in the UK.

Locate 1 area with depositional glacial features in the UK. Link locations and their rainfall to each of the 3 different types of

Explain how physical weathering occurs.

Describe 2 other slope processes or mass movement.

agriculture in the UK.

UK Physical- Landscapes-
Level 1




Geology and Landscapes Distribution of physical features and their causes

What is Geology the study of? What does the word distribution in the title of this section mean?

Describe the properties of and name an igneous Name and locate 3 specific upland areas in the UK.

rock.

Describe the properties of and name a Name and locate 3 specific lowland areas in the UK.

sedimentary rock.

Describe the properties of and name a Describe the distribution of igneous and metamorphic rocks in the UK (name at least 3
metamorphic rock. specific locations).

Explain how glaciation has changed UK Describe the distribution of sedimentary rocks in the UK. (name at least 3 specific
landscapes. locations).

Explain how tectonic uplift has changed UK Draw and explain the process of relief rainfall.

landscapes. Explain how the distribution of rainfall across the UK affects the landscape.
Glacial Features and Landforms Landscape Uses (Agriculture in the UK)

Name and explain how 4 landforms (shapes) were created Explain how 3 different types of agriculture work in the UK.

by glacial erosion in the UK.
Link locations and their geology to each of the 3 different types of

Locate 3 areas with erosional glacial features in the UK. agriculture in the UK.

Name and explain the sedimentary rock created by glacial Link locations and their altitude to each of the 3 different types of

deposition changes the UK landscape. agriculture in the UK.

Locate 1 area with depositional glacial features in the UK. Link locations and their rainfall to each of the 3 different types of agriculture
in the UK.

Explain how physical weathering occurs.
UK Physical- Landscapes-
Level 2

Explain 2 other slope processes or mass movement.




River Features

Draw a LONG PROFILE of a river (Include Upper, Middle and Lower
Course). Next to each section draw a CROSS PROFILE.

Describe what happens to the following as you move downstream-
Width

Depth

Velocity

Sediment Size

Sediment Load

Name and describe four types of erosion which take place in rivers.
Name and describe four types of transportation within rivers.

What is the reason that the river will deposit its load?

River Landforms

Where would you most likely find a waterfall?

Name four keywords associated with waterfalls. Draw a labelled
diagram to show what they are.

Draw a meander. Show where erosion takes place and where
deposition takes place.

What is an ox-bow lake?
What is a flood plain?
What is a (natural) levee?

Where would you find the mouth of a river?

Flooding Causes

Name some human causes of flooding.
Name some natural causes of flooding.

River Management

What is the difference between hard and soft
engineering?

What do the following words mean; impermeable, permeable, surface runoff, Name and describe two examples of hard

infiltration and interception?

Peak discharge

What does
this storm hydrograph show?

Peak
gl rainfall

River discharge (cumecs)

Time
Key

D Base flow D Storm flow

D Possibility of river flooding

infall (mm)

engineering

What are the advantages of hard engineering and
where would it be used?

Name and describe two examples of soft
engineering

What are the advantages of soft engineering and
why is it more sustainable?

T |9A37 -s43A1Y -|eaisAyd N



River Features

Draw a LONG PROFILE of a river (Include Upper, Middle and Lower
Course). Next to each section draw a CROSS PROFILE. Explain what
you would find at each stage of a river including Landforms.

Describe each keywords means and what happens to them as you
move downstream-

Width, Depth, Velocity, Discharge, Sediment Size and Sediment Load

Name, draw and EXPLAIN four types of erosion which take place in
rivers.

Name, draw and EXPLAIN four types of transportation which take
place in rivers.

Where would deposition mainly take place on a river’s long profile?

River Landforms

Where would you most likely find a waterfall? Explain why

Draw a labelled diagram to show how waterfalls are formed.
Explain underneath which types of erosions would take place.

Draw a meander. Explain how they are formed.
What is an ox-bow lake?

How does a flood plain form?

How does a levee form?

What is a depositional landform? What is an erosional landform?

Flooding Causes

Explain three human causes of flooding.
Explain three natural causes of flooding.

River Management

What is the difference between hard and soft
engineering?

What do the following words mean; impermeable, permeable, surface runoff, Name and describe two examples of hard

infiltration and interception? How do they
Link together?

Peak discharge

Peak
gl rainfall

What does
this storm hydrograph show?

River discharge (cumecs)

What does each keyword mean?

Time
Key

D Base flow D Storm flow

D Possibility of river flooding

infall (mm)

engineering

What are the advantages of hard engineering and
where would it be used?

Name and describe two examples of soft
engineering

What are the advantages of soft engineering and
why is it more sustainable?
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Weathering and erosion at the coast

What is weathering?
What is physical (freeze thaw) weathering and how does it break down rocks?

What is mass movement?
Name and describe an example of mass movement.

Name and describe the 4 types of erosion found at the coast.

Name and describe the 2 types of wave at the coast.
What is the difference between the 2 types of waves

Coastal Erosion (and Transportation
Landforms) and Deposition
What is a discordant coastline? What Name and describe four
erosional landform does it form? examples of transportation
What is a concordant coastline? Name, draw and describe
the process that moves
Look at the image below- Name the five material along a beach.
stages of this process. Which two kinds of
erosion have made this landform? Name, draw and describe a
depositional landform.
Y
[ PR o~
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Coastal Management

What is the difference between hard and soft
engineering?

Name and describe two examples of hard
engineering

What are the advantages of hard engineering and
where would it be used?

Name and describe two examples of soft
engineering

What are the advantages of soft engineering and
why is it more sustainable?
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Weathering and erosion at the coast

What is weathering?
What is physical (freeze thaw) weathering and how does it break down rocks?

What is mass movement?
Name and describe an example of mass movement.

Name and describe the 4 types of erosion found at the coast.

Name and describe the 2 types of wave at the coast.
What is the difference between the 2 types of waves

Coastal Erosion (and Transportation

Landforms) and Deposition

What is a discordant coastline? What erosional Name and describe four

landform does it form? examples of transportation

What is a concordant coastline? Name, draw and describe
the process that moves

Look at the image below- Name the five stages material along a beach.

of this process. Which two kinds of erosion

have made this landform? Name, draw and describe a
depositional landform.
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Coastal Management

What is the difference between hard and soft
engineering?

Name and describe two examples of hard
engineering

What are the advantages of hard engineering and
where would it be used?

Name and describe two examples of soft
engineering

What are the advantages of soft engineering and
why is it more sustainable?
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Urban and Rural Keywords

What is the economy in a geographical sense?

Explain the differences between urban and rural areas.
Explain why population density is high in urban areas.
Name 5 characteristics of the word deprivation.

Describe 3 things you would use to measure environmental
quality.

Name the 3 parts of a UK city. Describe the function of each.

Name and describe the four sectors of jobs.
Explain what immigration policy is and give two examples.

What does the term infrastructure mean? Why is it so
important for the UK economy?

Explain what is meant by rural diversification.
Describe why agriculture is important to rural areas.

What is an enterprise zone? Why are they important to the
economy?

The UK’s Human Landscape

Describe two reasons why people migrate WITHIN the UK.

Name two regions in the UK with differing economies. Explain 2 reasons for each as to

why they perform very differently

Birmingham- Our UK City.

Describe three ways in which Birmingham is well connected to the rest of the
UK.

Explain two ways in which Birmingham is well-known to the rest of the world.

Name three locations in Birmingham that are different parts of the city.
Explain why each can be considered very different from each other.

Explain 3 problems Birmingham has faced over the past 3 decades.
Explain two ways in which Birmingham has tried to regenerate areas or
rebrand them.

Explain two ways to make Birmingham more sustainable.
Explain how effective two attempts to make Birmingham sustainable have
been.

Changes in a rural area- Worcestershire

Worcestershire and Birmingham are very closely linked to each other. Describe 4 changes that Worcestershire has experienced because of its

close links with Birmingham.

Explain 2 major challenges that rural areas like Worcestershire face.

Explain what the term rural diversification means.

Explain 3 ways in which Worcestershire could diversify its economy.

Z |19n7
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Urban and Rural Keywords

What does the term economy mean?

What is an urban area?

What is a rural area?

What is population density.

What does the term deprivation mean. Name 3 things
people who are deprived would experience.

Name 3 things you would use to measure environmental
quality.

Name the 3 parts of a UK city. Describe the function of each
(what they do).

What are primary, secondary, tertiary and quaternary jobs?
Describe what immigration policy is and give one examples.

What does the term infrastructure mean?
Explain what is meant by rural diversification.

Describe why agriculture is important to rural areas.

What is an enterprise zone?

The UK’s Human Landscape

Describe two reasons why people migrate WITHIN the UK.

Name 2 reasons the North East’s economy has problems.
Name 2 reasons the South East’s economy is growing.

Birmingham- Our UK City.

Describe 3 ways in which Birmingham is well connected to the rest of the UK.

Describe 2 ways in which Birmingham is well-known to the rest of the world.

Explain 3 problems Birmingham has faced over the past 3 decades.

Explain two ways in which Birmingham has tried to regenerate areas or

rebrand them.

Explain two ways to make Birmingham more sustainable.

Changes in a rural area- Worcestershire

Worcestershire and Birmingham are very closely linked to each other. Describe 2 changes that Worcestershire has experienced because of its

close links with Birmingham.

Describe 2 major challenges that rural areas like Worcestershire face.

Explain 3 ways in which Worcestershire could diversify its economy.

T [9A97
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Urban and Rural Keywords

What is the economy in a geographical sense?

Explain the differences between urban and rural areas.
Explain why population density is high in urban areas.
Name 5 characteristics of the word deprivation.

Describe 3 things you would use to measure environmental
quality.

Name the 3 parts of a UK city. Describe the function of each.

Name and describe the four sectors of jobs.
Explain what immigration policy is and give two examples.

What does the term infrastructure mean? Why is it so
important for the UK economy?

Explain what is meant by rural diversification.
Describe why agriculture is important to rural areas.

What is an enterprise zone? Why are they important to the
economy?

The UK’s Human Landscape

Describe two reasons why people migrate WITHIN the UK.

Name two regions in the UK with differing economies. Explain 2 reasons for each as to

why they perform very differently

Birmingham- Our UK City.

Describe three ways in which Birmingham is well connected to the rest of the
UK.

Explain two ways in which Birmingham is well-known to the rest of the world.

Name three locations in Birmingham that are different parts of the city.
Explain why each can be considered very different from each other.

Explain 3 problems Birmingham has faced over the past 3 decades.
Explain two ways in which Birmingham has tried to regenerate areas or
rebrand them.

Explain two ways to make Birmingham more sustainable.
Explain how effective two attempts to make Birmingham sustainable have
been.

Changes in a rural area- Worcestershire

Worcestershire and Birmingham are very closely linked to each other. Describe 4 changes that Worcestershire has experienced because of its

close links with Birmingham.

Explain 2 major challenges that rural areas like Worcestershire face.

Explain what the term rural diversification means.

Explain 3 ways in which Worcestershire could diversify its economy.
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Urban and Rural Keywords

What does the term economy mean?

What is an urban area?

What is a rural area?

What is population density.

What does the term deprivation mean. Name 3 things
people who are deprived would experience.

Name 3 things you would use to measure environmental
quality.

Name the 3 parts of a UK city. Describe the function of each
(what they do).

What are primary, secondary, tertiary and quaternary jobs?
Describe what immigration policy is and give one examples.

What does the term infrastructure mean?
Explain what is meant by rural diversification.

Describe why agriculture is important to rural areas.

What is an enterprise zone?

The UK’s Human Landscape

Describe two reasons why people migrate WITHIN the UK.

Name 2 reasons the North East’s economy has problems.
Name 2 reasons the South East’s economy is growing.

Birmingham- Our UK City.

Describe 3 ways in which Birmingham is well connected to the rest of the UK.

Describe 2 ways in which Birmingham is well-known to the rest of the world.

Explain 3 problems Birmingham has faced over the past 3 decades.

Explain two ways in which Birmingham has tried to regenerate areas or

rebrand them.

Explain two ways to make Birmingham more sustainable.

Changes in a rural area- Worcestershire

Worcestershire and Birmingham are very closely linked to each other. Describe 2 changes that Worcestershire has experienced because of its

close links with Birmingham.

Describe 2 major challenges that rural areas like Worcestershire face.

Explain 3 ways in which Worcestershire could diversify its economy.
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People and the Biosphere

Name and describe 3
of the biomes in this
image.

What is a biome?

Describe how low pressure creates the
climate in the rainforest?

Describe how high pressure creates the
climate in the desert?

How does latitude affect climate?

How does altitude affect climate?

Describe 3 local factors that could affect plant
growth. (Think about how plants grow)
Define: Biodiversity, Biotic and Abiotic

Describe three different
parts of the nutrient cycle
from this image.

What are provisional services?
What are supporting services?
What are regulating services?
What are cultural services?

Explain what the Boserupian theory about
resources suggests for the future. (Optimist)

Explain what the Malthus theory about
resources suggests for the future. (Pessimist)

Forests under threat

Locate the Tropical Rainforest and describe
the climate.

Describe two adaptations of organisms in the
tropical rainforest.

Name the 4 layers of the rainforest.

Give 3 threats specific to the tropical
rainforest.

Describe 3 ways in which rainforests can be
used in a more sustainable way.

Locate the Taiga and describe the climate.
Describe two adaptations of organisms in the
Taiga.

Give 3 threats specific to the Taiga.

==========

Describe 3 ways in which Taiga Forests can be
used in a more sustainable way.

Energy Futures

What are non-renewable energy resources?
Give an example.

What are renewable energy resource?
Give an example.

What are recyclable energy resources?

Give an example.
Describe the changes in global
energy demand.

Explain 2 issues with extracting (getting) and
using oil as a source of energy.

Define the following keywords:

Direct Carbon Footprint, Indirect Carbon
Footprint, Energy Efficiency (Grants and
Loans), Energy Security and Diversifying the
Energy Mix.

Describe 2 ways Energy Efficiency can be
improved in the home.

What is a stakeholder?
Name 3 stakeholders in Energy Futures.

Describe both sides of the argument between
‘Business as usual’ and a ‘more sustainable
future!

Paper 3 Topics- Level 1



People and the Biosphere

Name and describe 3
of the biomes in this
image.

What is a biome?

What kind of climate do we find in a
rainforest? Why?

What kind of climate do we find in a desert?
Why?

How does latitude affect climate?

How does altitude affect climate?

Describe 3 local factors that could affect plant
growth.

Explain what biodiversity means.

What is the difference between abiotic and
biotic? Give examples.

Describe the different
parts of the nutrient cycle
from this image.

Explain what the following types of services
are within an ecosystem: provisional,
supporting, regulating and cultural.

Explain what the Boserupian theory about
resources suggests for the future.

Explain what the Malthus theory about
resources suggests for the future.

Forests under threat

Locate the Tropical Rainforest and describe
the climate.

Explain two adaptations of organisms in the
tropical rainforest.

Name the 4 layers of the rainforest and
describe each one.

Give 3 threats specific to the tropical
rainforest.

Explain 3 ways in which rainforests can be
used in a more sustainable way.

Locate the Taiga and describe the climate.
Explain two adaptations of organisms in the
Taiga.

Give 3 threats specific to the Taiga.

==========

Explain 3 ways in which Taiga Forests can be
used in a more sustainable way.

Energy Futures

Explain what non-renewable energy
resources are. Give some examples.

Explain what renewable energy resources are.
Give some examples.

Explain what recyclable energy resources are.
Give some examples.
Describe the changes in global
energy demand.

Explain 3 issues with extracting and using oil
as a source of energy.

Define the following keywords:

Direct Carbon Footprint, Indirect Carbon
Footprint, Energy Efficiency (Grants and
Loans), Energy Security and Diversifying the
Energy Mix.

Explain 3 ways Energy Efficiency can be
improved.

What is a stakeholder?
Name 3 stakeholders in Energy Futures.

Explain both sides of the argument between
‘Business as usual’ and a ‘more sustainable
future!

Paper 3 Topics- Level 2



Paper 3 Keywords

People and the biosphere

Biome

Tropical Rainforest
Desert

High Pressure

Low Pressure
Latitude

Altitude

Local Factors (Plants)
Biodiversity

Biotic

Abiotic

Nutrient Cycle
Photosynthesis
Respiration
Decomposition
Energy Flow (Food chain)
Provisional Service
Supporting Service
Regulating Service
Cultural Service
Boserup

Malthus

Forests under threat

Taiga Biome

Tropical Rainforest Biome
Emergent Layer
Canopy Layer
Under-Canopy Layer
Shrub Layer
Deforestation

HEP Dams

Fossil Fuel Extraction
Forest Fires
Conservation
Exclusion Zone
Wilderness Area
Buffer Zone

Education and Training
Sustainability

Energy Futures

Non-renewable

Fossil Fuels

Renewable

Recyclable Energy
Energy Demand
Extraction

Direct Carbon Footprint
Indirect Carbon Footprint
Carbon Neutral

Energy Efficiency

(Energy Efficiency) Loans
(Energy Efficiency) Grants
Energy Security

Diverse Energy Mix
Stakeholder

Sustainable Energy
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